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Read the following instructions carefully before you begin to answer the questions.
This Booklet contains questions in English as well as in Hindi Language.
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( INSTRUCTIONS TO CANDIDATES )

1. This Booklet contains 100 questions.

2. In questions set bilingually in English aﬂd Hmds language, in case of
discrepancy, the English version will prevail

3. All questions are compulsory and carry equa] marks.

4. The paper carries negative marking. 0.50 mark will be deducted for each
wrong answer.

5. Before you start to answer the questions you must check up this
Booklet and ensure that it contains all the pages (1- M}mdseeﬂm
no page is missing or repeated. If you find any defect in this
Booklet, you must get it r¢placed immediately.

6. You will be supplied the Arfswer-Sheet separately by the Invigilator. You
must col and code the details of Name, Roll Number, Ticket Number
and Test Form Number on Side-1 of the Answer-Sheet carefully. You
must also put your signature and Left-Hand thumb impression on the

-Sheet at the prescribed place before you actually start answering
ﬂ:equemons These instructions must be fully complied with, failing
yourAmww-Slwetmllmlbeeva!ua&edandyoum | be awarded

'ZERQ’ mark. (V.H. and Cerebral Palsy candidates will have to ensure
Mmdetaikmﬁnedhbythescﬂbe.ﬂnw,anvﬂm
Cerebral Palsy candidates must put their left- h.andﬂmmbh:mon
at the space provided in the Answer-Sheet. Those V.H. and
Palsy candidates who can sign should also put their signatures in
addition to thumb impression,)

7. Answers must be shown by completely blackening the corresponding
circles on Side-1I of the Answer-Sheet against the relevant question number
by Black/Blue Ball Point Pen only. Answers which are not shown by
Black/Blue Ball-point Pen will not be awarded any mark.

8. Amachine will read the coded information in the OMR Answes-Sheet. In
case the information is incomplete or different from the information given
in the application form, such candidate will be awarded ‘ZERO" mark.

9. The Answer-Sheet mustbe handed ovetlotlnlnwglatmbcfme youleave |

the Examination-Hall.

10. Failure to comply with any of the above tnstmdionswtﬂmdu'a
undndxteliabkhmch&cﬁon!pemltynsmyhedmdm

11. The manner in which the different questions are to be answered has been
explained at the back of this Booklet (Page No. 24), which you should
read carefully before actually answering the questions.

12. Answer the questions as quickly and as carefully as you can. Some
questions may be difficult and others easy. Do not spend too much time
on any question.

13. In lieu of Question Nos. 96 to 100 relating to figural , alterate
questions haye been provided to be attempted by V. Cudxalpalxy
candidates only.

14. No rough work is to be done on the Answer-Sheet. Space for rough
work has bden provided below the questions.

15. “Mobile phones and wireless communication devices are completely
banned in the examination halls/rooms. Candidates are advised not
to keep mobile phonesiany other wi communication devices with
them even switching il off, in their interest. Failing to comply
with this provision will be considered §s using unfair means in the
examination and action will be n against them including
cancellation of their candidature.”

Feigant & fow e )

< wgtw 1009 E |

2 e & e e e S et o st i et 2 e
7 s faaor e v o

3, qlt e Al € e we e A

4, T T T T A T | &I I BT 0,50 S 3 T |

3 anrga R
(l-M)mwmlﬁ
o, it EGal A
6. Pl amr o SoafE e & | FCIERH F Side- o

Pt & SRET SHGES A T, e T, Ree ey ak e

i wear s fod | Tl % S A o I S § W

ofer T ﬁﬂﬁnmimaﬁmammta@mﬁm

ot S T | méaaaa&ﬁﬁ{ﬂmawa%mmm

- Tt St @ st g Smon sl ‘o i R s |
BNT W T | W /

geftear Fwe-ufimst § fFratfe e o o et g & of

frome s ww | Wt it e wedt

el o S ek it i ) e e 2 e i
gﬁmﬁmﬂaﬁa e TR v, I e i i
S |
8. #ow.R, STR-aFEH v g g A T R el |3
%mmm&%ﬂéwﬁﬁq%ﬁ@mﬁ‘m wﬁ
9. ﬁﬁﬁa‘mﬂﬂwﬁmﬁ#mqﬁmﬁm*mwﬁ

10. 30T & IR 7 Reell v o oft werw v w0 W ImlimER W
&#sqmﬁmﬂm%grmtmm&mmuﬁu% 1

11. fafrrmei s (g tien24) Hetga e
FAF ;T A e & SR A e S GE |

12. uﬁ#nmﬁaa}ﬂaﬁﬂum g1 A
" ﬂwfa? W i

. Wﬂwﬁamm&m%xﬁﬂﬁqﬁmﬁamﬂﬁm
Ffdsimrrkont |

U SIGERY R e ST
14. dﬁm‘m&m FE NE SRS TR e

1s. wﬂarﬂaiwnﬁuhrg&mhaw&mmm{#
ﬂ‘!anﬂzanfw}mm#ﬁaﬁmﬂwm?mw
AT v A TTE | FAAEEET

TR A
ﬁmmmmﬁm i

5 gaa] B wieieiT e a7 9% 7 @il 97 a% FeT T AT |

MA-2015

b

Downloaded From: www.sscportal.in

e B ¥ A o tﬁmtmuﬁm:ﬂ‘ﬁm



Downloaded From: www.sscportal.in

Downloaded From: www.sscportal.in

Paper -1
Quantitative Abilities
1. If the product of two positive 7. The average (arithmetic mean) of
numbers be 1575 and their ratio is 330 360 54 3% js "
7:9, then the greater number is (A) 360
(A)35 (B)63- (C)45 (D)135 g (B) 3177
2. The average weight of first 11 © 37 ;3:;"' 3¥
persons among 12 persons is 95 kg. (D) 3% +3% +3%
The weight of 12" person is 33 kg -\
more than the average weight of all 8.  Pooja wants to sell a watch at a profit
the 12 persons. The weight of the of 20%. She bought it at 10% less
12" person is and sold it at ¥ 30 less, but still she
(A) 128 kg (B) 97.45 kg igsalrn:d 20%. The cost price of watch
(©) 128.75kg (D) 131 kg (A) % 220 (B) 3225
3. The ‘average of the largest and (©) %240 (D) X250
- smallest 3 digit numbers formed by .
0, 2 and 4 would be _ 9. A shopkeeper sold his goods at half
_ the list price and thus lost 20%. If he
1L ol M 03" O DR had sold on the listed price, his gain
4. The average of six numbers is 3.95. percentage would be
The average of two of them is 3.4, (A) 20% (B) 35%
while the average of the other two is (C) 60% (D) 2%
3.85. The average of the remaining
two numbers is i0. Two types of tea costing ¥ 180/kg
(A) 45 B)47 (C)46 (D)438 and ¥ 280/kg should be mixed in the
: : ratio so that the mixture obtained,
S.- If the average of eight consecutive sold at ¥ 320/kg to earn a profit of
even numbers be 93, then the greatest 20% is
number among them is (A) 1:13 (B) 2:13
(A)8 (B)98 (C)100 (D)102 (C) 3:13 (D) 4:13
6. Ifthe arithmetic mean of 3a and 4b is 11. A profit of 12% is made when s
greater than 50, and a is twice b, then mobile phone is sold at T P and there
the smallest possible integer value of is 4% loss when the phone is sold at
ais ¥Q.ThenQ:Pis
(A)18 B)19 ©20 (D)2 (A 45 B)31 (©) 11 D)67
SPACE FOR ROUGH WORK
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12. A sells a cycle to B at a profit of 20% 16. A store offers a variety of discounts
“~and B sells it to C at a loss of 25%. If that range between 20% and 25%
C bought the cycle for ¥ P, then the inclusive. If a book is discounted to a
cost price of it for A was price of I 270, then its greatest
. g o 10 possible original price was
AR 10F B)X 9P (A) 324 (B) ¥337.5
- (C) 33455 (D) ¥ 360
© ?é‘lﬁP (D) ?%P 17. If the ratio of cost price to selling
: price is 10 : 11, then the rate of
: percent of profit is
13. A man buy_s atoy for X 25. and sells it (A) 0.1% (B) 1%
for ¥ 30. His gain percent is () 1.1% (D) 10%
(A) 5% (B) 2.5% 18. A boat takes half time in moving a
(C) 20% (D) 10% certain distance downstream than
upstream. The ratio of the speed of
14. From 1980-1990, the population of a RS boaif n stillwater and that of the
country was increased by 20%. L ity
(A)1:22 B)3:1 (C)2:1 (D)4:3
From 1990-2000, the population of : .
the country was increased by 20%. 19. A tank has two pipes. The first pipe
: h can fill it in 4 hours and the second
From 2000-2010, the population of can empty it in 16 hours. If two pipes
the country was incteased by 20%. be opened together at a time, then the
Then  the overall increased tank will be filled in :
population (in percentage) of the 1
country from 1980-2010 was (A) 10 hours (B) 53 hours
oA L Gl © Syhows (D) 6 hours
©) 72.2% (D) 72.8% iy
20. A farmer travelled a distance of
15. A supply of juice lasts for 35 days. If 61 km in 9 hours. He travelled partly
its use is increased by 40% the on foot at the rate 4 km/hour and
number of days would the same parlly on bicycle at the rate 9
amount of juice lasts, is lf““ﬂ:[o“f* The distance travelled on
oot is :
(A) 30 days (B) 27 days (A) 14 km (B) 15 km
(C) 25 days (D) 24 days’ (C) 16km (D) 17 km
' SPACE FOR ROUGH WORK
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21. A man rows upstream 36 km and
downstream 48 km taking 6 hours
each time. The speed of the current is

(A) 2km/hour  (B) 1.5 km/hour
(C) 0.5 km/hour (D) 1 km/hour

. 22. On a certain principal the compound
interest compounded annually for the
second year at 10% per annum is
% 132. The principal is '

(A) T 1000 (B) T 1320
(C) T1250 (D) T 1200

23. The principal which gives ¥ 1
interest per day at a rate of 5%

simple interest per annum is
(A) X 7300 (B) ¥ 3650
(C) T 5000 (D) ¥ 36500

24. When principal = ¥ S, rate of interest
= 2r % p.a, then a person will get
after 3 years at compound interest

~ Downloaded From: www.sscportal.in

25.

270

The sum of money which becomes
T 2420 at 10% rate of compound

~ interest after two years is
(A) ¥ 1000 (B) ¥ 1500
(C) 2000 (D) 2500

From a solid right circular cylinder
of length 4 cm and diameter 6 cm, a
conical cavity of the same height and
base is hollowed out. The whole
surface of the remaining solid (in
square cm.) is

(A) 151 (B) 24r(C) 48% (D) 63n

A spherical ball of radius 1 cm is
dropped into a conical vessel of
radius 3 cm and slant height 6 cm.

The volume of water (in cm?®), that
can just immerse the ball, is '

4
Qs @

©% O

!
The in-radius of a triangle is 6 cm,
and the sum of the lengths of its sides
is 50 cm. The area of the triangle
(in sq. cm.) is

\3
A) T S[l * ’ib‘a) (A)50 (B)s6 (C) 150 (D)300
®) 2 38[1 +_“)3 29. One of the angles of a right-angled
100 ~triangle is 15°, and the hypotenuse is
6Sr : “1 m. The area of the triangle
©) 3100 ‘ (in sq. cm.) is
3 (A) 1200 (B) 1215
r
D) ?S(l +§) (C) 1220 (D) 1250
! SPACE FOR ROUGH WORK.
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30.

3

32.

33.

Assume that a drop of water is
spherical and its diameter is one-
tenth of a cm. A conical glass has a
height equal to the diameter of its
rim. If 32000 drops of water fill the
glass completely, then the height of
the glass (in cm.) is

Al B2 ©3 D4

If the height of a cylinder is 4 times
its circumference, the volume of the
cylinder in tegms of its circumference

c,is

(A) 4mc3 (B) 2nc3
@3 ' ¢
© (D) =

If the ratio of the angles of a
quadrilateral is 2:7:2:7, then itis a

(A) parallelogram (B) rhom_bus

(C) trapezium (D) square

If for an isosceles triangle the length
of each equal side is ‘a’ units and

that of the third side is ‘b’ units, then
its area will be

(4) 5262 -1 sq. units

350

36.

Z7

The outer and inner diameter of a
circular path be 728 m and 700 m
respectively. The breadth of the path

is "
(A) 28 m -(B) 20m _
D) 14m

(C) Tm

A piece of wire when bent to form a
circle will have a radius of 84 cm. If
the wire is bent to form a square, the
length of a side of the square is

(A) 132 cm (B) 225 cm
(C) 152 em (D) 168 cm

If radius of a circle is increased by
5%, then the increase in it’s area is

(A) 10% (B) 5%
(€) 10.25% (D) 5.75%

The area of the parallelogram whose

length is 30 cm, width is 20 cm and
one diagonal is 40 cm is

(A) 100\/15 cm?  (B) 150\/15 cm?
(C) 200\/15cm?® (D) 300015 cm?

b 38. On increasing each side of a square
(B) 5 V/a? ~ 2b% sq. units by 50%, the ratio of the area of new -
: formed square and the given square
(©) $V/46? Za? sq. units Wil
; (A) 9:3.5 (B) 9:4
(D) Z\Maz ~b? sq. units (€) 9:5 (D) 9:7
SPACE FOR ROUGH WpRK
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39. The area of a circle is 324 & sq.cm. ik i
The length of its longest chord 44. If the side of a square is s+ 1)
(in cm.) is '3~
its and
4)28 B)32 (C)36 (D)38 units and its diagonal is == '\ﬁ units,
then the _length of - the side of the
40. The area of a rhombus is 256 sq.cm. - square weuld be - .
and one of its diagonal is twice the 3e. r
cho g e ket o0 | i 2
(A) 16 cm (B) 24 cma b R
(©) 32cm (D) 48 cm ©) 3 units (D) 1 unit
L E el e i and 45. If2s=a +b + c, then the value of
n="5-45-15- ..., then among 8(s-c)+(s-a)(s-b)is
the following the relatmn bctween m a+b+c
& n holds is (A) abe B) =% —
(A) m+n-1=0
(B) m-n-1=0 S mi
(C)m-n+1=0 | '
D) m+n+1=0 : 46. Ifp+ m =6andp* + m3 = 72, then
the value of pm is
3-5x 3 3-5
4. I hxqm_xzy =5:%= 0, then . A)12 B)8 (O6 (D)9
the value of 2424+ j
ey "z 8 47. When x™ is multiplied by x%,
(A)5 (B)15 (C)20 (D)10 product is 1. The relation between m
and n is
43. The distance between 2 places R and & i
$ is 42 km. Anita starts from R with (A) m=n B)m=-n
a uniform speed of 4 km/h towards S (C)mn=1 Dm+n=1 |,
and at the same time Romita starts
from S towards R also with same i . V.
uniform speed. They meet each other 48.  The area (in sq. unit) of the tnangle
after 6 hours. The speed of Romita is fom;ed by3t|1e dgx;aphs;f the equations
(A) 6km/hour  (B) 8 kmvhour PEMITSNE SPhays e
(C) 18 km/hour (D) 20 km/hour A 12 B)3 (©264 D)6
' SPACE FOR ROUGH WORK
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, 2 1 55. If aand b are the lengths of the sides
o2 pP-2p+1 &4 fhen tho Valus” Of _ of a right triangle whose hypotenuse
: ik is 10 and whose area is 20, then the
(p s p) AN % 9 value of (a + b)? is
9ih - T (A) 180 (B) 160 (C) 140 (D)120
@s @10 ©71 OI- .- : < g
: 56. The circumference of a triangle is
"S0. If-the ordinate and abscissa of the 24 cm and the circumference of its
point (K', 2K - 1) be equal, then the in-circle is 44 cm. Then the area of
muEarE s the triangle is (taking 7 =‘27‘?')
@-1.® :"- (0D (A) 84 square cm. (B) 68 square cm.
51. ABC is a triangle in which DE || BC (©) 36 square cm. (D) 48 square cm.
and AD:DB = 5:4 . Then DE : BC is 57, e length of each of ¢ al
: : _ - ¢ e le of each of two equ
(A) 49 (B)59 (C)4:5 (D)9:5 sides of an isosceles triangle is 10
52. The radii of two concentric circles - - cm. and the adjaceqt_ angl:e is 45°,
are 17 cm and 25 cm. A straight Jine then the area of the triangle is
+ PQRS intersects the larger circle at (A) 124/2 square cm.
the points P and S and intersects the
smaller circle at the points Q and R. (B) 152 square cm.
If QR = 16 cin, then the leﬂgth (C) ZOJE square cm.
(incm.) of PS is . \!_
(A)32 (B)40 (C)41 (D)33 (D) 232 squarecm.
53. AB is a diameter of a circle with. §8. Let P and Q be two points on a circle
~ centre O. The tangents at C meets with centre O. If two tangents of the
AB produced at Q. If ZCAB = 34°, circle through P and Q meet at A
then measure of ZCBA is with ZPAQ = 48°, then ZAPQ is
(A) 34° (B) 124° (C) 56° (D) 68° (A) 48° (B) 60° (C) 96° (D) 66°
54.  For an equilateral triangle, the ratio of 59, The length of the diagonal of a
the in-radius and the outer-radius is rectangle with sides 4 m and 3 m
A) 142 B) 13 would be
()12 (D) 1:3 (4)7m (B) 14m (C) 12m (D) Sm
'SPACE FOR ROUGH WORK
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60. If the sides of a triangle are in the 65. If O is positive acute angle and
1 200 =
ratio 3 1 : 37 , then the triangle is 3 (sec’0 + tan9) = 5, then the value
of cos 268 is
- (A) Obtus triangle” I i \3
“(B) Acute triangle . (A) \2 @11 ©; O3
(LR mange, 66. It xcos¥30° - sin60°=
(D) Equiangular triangle tan245° - sec 60° _
P then the value of x
61. The value of 6(0 < 6 < 90° i
satisfying 2 sin?@ = 3 cos @ is 1 1 1 9
62. a, b, c are the lengths of three sides 67. If tan o = 2, then the value of
of a triangle ABC. If a, b, ¢ are . cosec’a, — sec?o,
related by the relation a% + b + ¢c? = cosec?oL + sec’o
ab + bc + ca, then the value of 3 17 s ... 3
(sin?A + sin®B + sinC) is @) -5 B)5 ©O-9 D3
35 o G 3
A= B Oy O3 68. If sin ¢0 + 30°) z-é—, then the value
12
2 .
63. If a sin © + b cos 6 = ¢, then 9 st
aeosﬁ-—-bsineisequalto (A)lzé (B)% (C)% (D)%
(A) t1\[a2 + b2+ 2
- 69. In a right angled triangle A PQR, PR
& +al—b2 ;
(B) £yc*+a®-b is the hypotenuse of length 20 cm,
(©) iwfa+ b-c £PRQ = 30°, the area of the triangle
is
D) +4/a% + b2 —¢? - ,
(D) (A) 1003 o (B) 10043 cn?
64, If sin © + cos 6 =2 sin (90° - ) © 50\3em?  + (D) 253 en?
i :
e ol pot G i 70, H0<0<90°and 4 c0s?0 43 cos O +
(A) \ﬁ—l (B) —'\f:_2+1 3 =0, then the value of 8 is
©OAP=1" . O)Z+1 (A) 45° (B) 60° (C)30° (D)90°
| SPACE FOR ROUGH WORK
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e X+y. 75. A General of Army wants to form a
L., Iftx: y= e i 2, then value of x—-y 15 square from 36562 armies. After
: arrangement, he found some armies
- (A)1:3 (B) 3 i1 left. How many armies were left ?
¥ (o ¥ 2] D)1:5 A)36 B)6 (8L D7
y 76.  Square root of 2—123E‘is
72. If 50% of x=30%y, then x : y is .
(A)5:3 ®)3:5 (A) t5(3-2) .
© 2:3 )3:2 ®) 5 03-1) :
©t50B+1
73. The value of L L \r
S i 1 \[_"'\54.\[5"' (D) None of these
1
3+\ﬁ \(‘—H\r N5+60 77. The value of
s I 2+ 22 + ..
\5+\ﬁ \ﬁ+\/§ \8+4/9 (A)8 (B)12 (C)9 D) 18
A0 ®B1L ©2 D4 D
78. In a farm there are cows and hens. If
heads are counted there are 180, if
74. While solving a problem, by mistake, legs are counted_ there are :420. The
Anita squared a number and then number of cows in the farm is
subtracted 25 from it rather than first (A) 150 (B) 30 (C) 130 (D)50
subtracting 25 from the number and
- then squaring it. But she got the right 79. The number which can be written in
answer. What was the given number ? the form of n (n + 1) (n + 2), where n
e is a natural number, is
) @3 ®6 ©7 OS5
(B) 38 !
2 .
(©) 48 80. The valueof (11111)%is
(A) 121212121  (B) 11344311
(D) Cannot be determined . (C) 12344321 (D) 123454321
SP{&CE FOR ROUGH WORK
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81. Two workers A and B are engaged 85. x can copy 80 pages in 20 hours, x
to do a piece of work. A working and y together can copy 135 pages in
alone would take 8 hours more to 27 hours. Then y can copy 20 pages
complete the work than when work in <k Tl
togetilir. If B worked alone, would (A 3 homsmﬁ,}% ks
take 4‘2‘ hours more than when work .

- (C) 20 hours (.(B)_’ﬁtt hours
together. The time required to finish
the work together is -
(A) 4 hours (B) 6 hours 86. x does Y% of a job .in '6 days. y
(C) 5 hours (D) 8 hours completes rest of the job in 12 dgys.
! + Then x and y could complete the job

82. If a man earns ¥ 2000 for his first 50 togetherin
hours of work in a week and is then
paid one and one half times his (A) 9%635,3 (B) 7—% days
regular hourly rate for any additional
hours, then the hours must he work 1
to make ¥ 2300 in a week is (C) 9 days (D) 85 days
(A) 4 hours (B) 5 hours
(C) 6 hours (D) 7 hours

: 87. Mr. x and Mr. y each bought the

83. If x can finish a job in 4 hours and y same motorcycle using a 10% off
can finish the same job in § hours coupon. Mr. x's cashier took 10% off
independently, then they together the price and then added 8.5% sales
will finish the job in tax whereas Mr. y’s cashier first
(A) 160 minutes  (B) 150 minutes added the sales tax and then took
(C) 140 minutes (D) 120 minutes 10% off the total price. The amount

84. A company employed 200 workers to LA
completema certain work in 150 days. (A) same as the amount Mr. y paid

1
If only 7 of the work has been done (B) greater than ¥ 850 as the amount
in 50 days, then in order to complete Mr. y paid
the whole work in time, the numbet (C) less than ¥ 550 as the amount
of additional workers to be employed Mr. ypaid
was
(A) 300 - (B) 200 (D) greater than % 85 as the amount
(C) 100 (D) 600 Mr. y paid

. SPACE FOR ROUGH WORK '
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88.

89.

91.

i

If a person marked a product 25%
above the cost price but allows 10%

discount, then the percentage of

profit is

re
@A) 15% (6 12.5%
(©) 35% - (D) 17.5%

The price of an antique is reduced by
20% and then this price is again
reduced by 10%. The total reduction

of the price is
MS%

(D) 23%

(A) 30%
(©) 25%

A builder purchases 25 windows at
25% off the total price of
% 1,20,000. If the builder receives an
additional discount of < 7500 for
the purchase, then the cost of each
window is

(A) 3100 (B) ¥ 3200

(C) 33300 (D) % 3400

11

¥
EA:B=2:3,B:C=5:3, then

(A +B): (B +C)is equal to

&
B

93.

95.

92.

In a partnership business, B’s capital
was half of A’s. If after 8 months, B
withdrew half of his capital and after

2 months more A withdrew i’ th of

his capital, then the profit ratio of A ~

and B will be

(A) 10:23. .(B) 23:10

© 52 (D) 2:5

A school group charters three

4
identical buses and occupies 5 of the

1
seats. After 7 of the passengers

leave, the remaining passengers use
only two of the buses. The fraction of
the seats on the two buses that are
now occupied is

7 9 8 7
Wi B Oy D3y -

-

A and B invest in the ratio 3:5. Aft?; Zb g Z

6 months, C joins the business |,

investing an amount equal to B’s. At
the end of the year what will be the

ratio of their profits ?
(A) 3:5:2 9 b
(C) 6:10:5 (D) 8:10:5

In a library the ratio of story books
and other books is 7 : 2 and there are
1512 story books. Due to collection
of some more story books the said
ratio becomes 15:4. The number of

Qe (Bt story books collected is ,
(©) 58 D) 15:16 - (A)100 (B)97 (C) 108 (D) 205
SPA(&E&OR I}\Olllgﬂ WORK
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Study the bar diagram and answer
Quesuan Nos. 96 & 97 :

B Marks in 1* term
100 [ Marks in 2™ term
90
80
70
£ 60
S 50
40
30
20
10
0 . X
English Maths Physics Chemistry Biology
Subjects —>

96. Ratio of highest and lowest marks
obtained in first term among all the
subjects is
(A) 729 (B) 9:7 (C) 10:7 (D) 7:10

97. Average marks obtained by the
students for all subjects in second
term is
(A)65 (B)73 (€C)62 (D) ?2

In an Institution there arg 800 students.

Students use different modes of transport

for going to the institution and return. The

given pie diagram represents the requisite
data. Study the diagram carefully and

answer the question nos. 98 to 100.

98. Number of students travel in public

99. Number of students who do not use
institute bus is

(A) 330 (B) 350 (C) 480 (D)320

'100. Number of “students who go_to
- institute on footis -

_(A) 160 (B) 170 (C) 120 (D) 106 -

: For Visually Handicapped/Cerebral
Palsy candidates only

96. The average of six numbers is x and
the average of three of these is y. If
the average of the remaining three is

z, then
(A) x=y+z (B) x=y+z
©€) x=2y+z D)x=2y+2z

97. Which of the following fractions is
: 3
greater than 7 and less than 'g' ?

4 2 1 :
w: ®: 0 op

98. The radii of two right circular
cylinders are in the ratio 2:3 and
their heights are in the ratio 5:3. The
ratio of their volumes is

(A) 49 (B) 9:4
(C) 20:27 (D) 27:20

99. The number of diagonals in an
octagon is

A8 (®B)16 (©18 D20

,100. Cost of 10 calculators and 12
watches is ¥ 11100. What is the cost
of 40 calculators and 48 watches ?

bus is (A) T 44800 (B) % 44400
(A) 150 (B) 120 (C) 130 (D) 125 (C) ¥ 46400 (D) T 44000
SPACE FOR ROUGH WORK
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General Awareness Magazine for SSC CGL Exam

++ You will be provided current affairs on various important topics on a monthly basis.

++* Important national and international news from various sources RS
at a single platform for vour convenience. ¥

; B | . (naust Time

+** Each and every topic will be given point wise , making it easier to grasp. "‘“\i;lﬁ'a

+* Very handy when it comes to various competitive exams.....

For Any Query Call our Moderator at: 011 - 45151781, +91 88007341541

General Awareness M agazine for SSC CGL Exam

Various Categories:

National

I nter national

Economy

India And The World

Sports

In The News

Science and Technology

Burning I ssues (Editorials From Different Newspapers)

What You Will Get:

You will get (12 Issues) PDF Only no Hard Copy

For More Information Click Given below link:
http://sscportal.in/community/general-awareness-magazine
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